18=6X6

6 op ejneL

¢L=6X8
y9=8X8

g op ejne|

€9=6X1
9¢=8X1
oY =LX1.

7 op ejnel

Taula de 10
0 x 10= 010
Per exemple 5x10=50

Multiplicar per 20, 300

YG=6X9
8y =8X9
¢y =.LX9
9€ =9X9

g op ejnel

Gr=6Xg
Oy =8XgG
GE=LXgG
0€=9Xg
Gc=GXg

0 x20=0x2x10

Per exemple :

6x20=6x2x10
=12x10=120

0 x300=0x3x100

Per exemple :

6 x 300 =6x3x 100
=18 x 100 = 1800

G op ejnel

€ =6XYV
ce=8Xy
8C=LXYV
ve=9Xy
0c=9X7v
oL =v Xy

¥ op ejneL

Taula de 0
] x0=0
Per exemple :
5x0=0;12x0=0

Taula de 1
Ox1=0
Per exemple :
5x1=5;12x1=12

LC=6X¢
ve=8X¢
LlZ=1.X¢
8L =9X¢
GL=GX¢
cl=vX¢
6=€X¢

¢ op ejneL

Taula de 2

2x2=4

2Xx3=6

2x4=8
2x5=10
2x6=12
2x7=14
2x8=16
2x9=18



